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~

1 (2014 )
A
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— 2NO,( g) ==N,0,( g)
(3) A Cu( OH) , AH = —=52.7k] * mol ™'
(4) A .
H,0, BB A (3)
A B
. CO(NH,), -
OB o .
@ B (1)
(1) N.H N,H, —4e” +40H ==N, +4H,0 ; (2)
N,H,; (2) DB @ x
: NaClO +2NH, ==N, H, + NaCl + H,0; 2-M-®  2N,H,(g) +N,0,(g) ==3N,(g)
N,H, ;(3) +4H,0(g) ; AH = -947.6 kJ = mol ™ "; (3)
:4Cu( OH) , 2: CO(NH,), + ClI0~ +20H ==N,H, +
+N,H, ==2Cu,0 + N, +6H,0; (4) A CO™ +Cl” +H,0
H,0, B A .
B N, H, N,H, NH, H,0,
H: N : N : H H,0
H H H (1) N,H, :
\NZN/ \NZN . N,H, + H,O"==N,H. + H,0
N N,H, + H,0 ==N,H. + OH"
2 (2015 ) (N,H,) N,H., + H,0=—=N,H." + OH"
. N,H; + H,0==N,H, + H,0"
NO, N,0, \ .
. A.
B. H*
C.
NH,—> D.
N, (j (2) N,H, H,0,
H,O o
A. B. C. D.
1 (3) NH,.N,H,.H,0  H,0,
(1) 1 .
e A.H,0, H,0
(2) N,0, B. NH,
C. H,0, N,H,
N,(g) +20,(g) ==2NO,(g) D. NH,
AH= -67.7k] * mol ' (DC (2)C (3) D
N,H,(g) +0,(g)==N,(g) +2H,0( g) ( 22015 - 02 - 10)

AH = -534.0kJ * mol '



